CLASS-II

Revision (1) Dt-30/6/20
A. Fill in the blanks:
1.9+12=
234-0=
3. +59 = 60
4.The difference between 7 and 2 is
5.67 + =67
6.25 - =0
B. Solve :
36 45 78
+ 7 -13 +19
249 196 80
+327 +458 -47
51 22 674
- 29 - 15 + 278

C. Word problems:



1.1 read 28 pages of a book on Monday and 17 pages of the
same book on Tuesday . How many pages | read altogether ?

2.In a rose garden there were 64 rose plants. Due to heavy rain
27 plants died . How many rose plants are now in the garden?

3. Soham has 62 toffees in his bag and Rohan has 49 toffees in
his bag. Who has more toffees, and by how much?

4. A bus contained 36 passengers. At a certain stoppage 9
more passengers boarded ( entered ) the bus. How many
passengers were in the bus at the end?



